Lesson 9.2: Solving Systems of Equations and Inequalities

System of Equations: A collection of 2 or more equations with the same set of unknowns.

2x +y = -5

Example: {
5x — 2y = —17

Solution of a systems of equations makes every equation true. Graphically, the solution
is the point of intersection.

One Solution No Solution
(Inconsistent)
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Infinitely Many Solutions
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Elimination Method

{(Zx—Sy =14 )

6x + 15y =13
() Matth wcﬁﬁuw

A -I'b

_) P /Sula’l’f&uf

{ No S*o\\fjﬁj




Elimination Method -
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Graphing Systems of Inequalities

2x — 3 6 5
'2x+2<1
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Write the systems of equations for the given context and then solve.
and ice cream.

A caterer 1s making an ice cream punch by combining fiuit juce

The juice costr gallon and the ice cream cor gallon. She
has 20 gallons of juice and needs to determine how much 1C€ cream she should
add so that the punch will c@ allon. How much jce cream should
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